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Note :

1. This’ Queshon—Booklet consists Parts namely :

PART - A Elementary Informaﬁon aboat Computer

PART -B Hindi i
English
Maths
., Mental Ability
PART - C General Knowledge
Current Affairs
Knowledge of State
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Each question carries one mark. Al Questions are: Comptﬂsory

Indicate your answers.on the OMR Answer-Sheet prowded
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4. Use of any type of calculator or log table and mobile phone is-prohibited.

5 While using Answer-sheet care should be taken so that the Answer-sheet does not get torn

or spoiled due to folds and wrinkles.
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PART - A

Which of the following program is not a -

search engine ?
(A) Opera

(B) Bing

(C) Google
(D) Yahoo

Which of the following printers uses the
photocopy technology to print ? -

(A) Inkjet printer

(B)' Laser Iﬁri.nter

. (C) Thermal printer

(D) Dot matrix printer -

Thermal Printer uses :
(A) Ribbon

(B) Ink

(C) Powder

(D) None of these

In whicnof the following devices after

storing data no alteration or deletion can
be done?

(A) Floppy Disk

(B) Hard Disk

(C) CD Rom

(D) Tape Drive .
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1 terabyte of memory =

(A) 1024 1024 bytes

(B) 1024 X 1024 x 1024 bytes

(C) 1024 X 1024 x 1024 x 1024 bytes
(

D) 1024 %1024 x1024 %1024 %1024
bytes

How many types of page orientation are
available in MS-Word software ?

(A) one
(B) two
(C) three
(D) five

In _ frequency spectrum is
divided into smaller spectra and is
allocated to each user.

(A) TDMA
(B) CDMA
(C) FDMA
(D) FGMA

A computer virus developed in 1986
which infects the boot-sector of storage
media formated with MSDOS FAT

system :

(A) AIDS
(B) Brain
(C) Friday
(D) Sobig

1 TTEREZ HAW =

(A) 1024 %1024 ATZEH

B) 1024x1024 %1024 TR
‘C) 1024 x 1024 X 1024 X 1024 FEH =

(D) 1024 X 1024 x 1024 x1024 X 1024
CIEERS

=

T, -9 GRIR § fFa TER & O
(A) T

B a

(© dH

(D)

T fireadl Waed & S-8ic
T faenferd foran ST & IR wdlish Swien
4 gie fear S g |
(A) @
(B ®Eme
(©) THITT
(D) THSLTAT

1986 H Torenfee Tehan T Frzey oy <
for @I fafean & qz-Geet = ywfaa #wa
T fS MSDOS FAT system @ format f&ar
RIE %, T

(A) AIDS

\B) I
© WS
(D) &ifer



10.

11.

22,

Hardware that creates sound from a 9. T TG § wafy SCF H STl

mathematical representation : TSI FH-T 7

(A) Sound synthesizer (A) "aE Ry ==
(B) Stampers (B) oug

(C) Speakers () e

(D) Set top box (D) e 2 s

XD - Picture card is a memory card used 10 XD - Tue=R =g i‘g_______!éam & forr At

in digital cameras. What does XD stand FIE T XD T 41 qe9d 22

for ?

(A) Ex-digital (A) .W—ﬁ*’:ﬁﬁ?{

(B) eXtreme digital | . (B T fefrav="

(C) Extra digital (C) U fefsiea

(D) None of above - (D) W H wE T

What is an animation 'r‘ . L,flvf/'. T mr e ?

(A) Picture formation ., (A) s :
(B) Provide moﬁon to still pictures 4By TR feli 1 i 3 o
(C) Taking out print . (C) Tor= frepremn

(D) Changing pictures into a graph (D) wwH feli | e

" A file containing relatively permanent \ 1@~ T HEd i‘“\rmfraqﬁfw 1 9 TE 8

data s . - - | @A, 8 |

(A) Random file | (A) T=H wEa

(B) Transaction file (B) TSR FEaA

(C) Master file Sy R R

(D) Sequential file j (D) mqgrﬁrrqaqﬂgﬁ s




: 2. 3 2016 | e
v (2016) developed 13, FLTAT Tl Tl TR
13. MIT of USA has recently (2016) develop =3 7o e Taefad i @, f58 =hed €

a new printing technology called :

(A) 4D printing () 4D fife
(B) 3D printing (@ 3D fifET =
(C) Web printing (@) o ffen

(D) T @ i3 T

(D) None of these

147 et H e, U3W I heEd €

14. In internet IP address is called :

(A) Internet Point ! (A) IR @RT
(B) Internet Provider | | (B) 3L EIEIESH
(C) Internet Procedure _ (C) TR ISR
(D) Internet Protocol DY S Wi
15. In MS-Excel software a formuia is entered 15. @EH—QEF@FI AR F AT H I{?ﬁ' ‘Fl"i?ﬂ
intoacellusing .~ symbol. fa@ &g ~ Tag =1 SwEm T
() # @) #
(B @ (B) @
€ & Q) &
(D) = AP = F

16. Free open source software for website \__16— Jerarge Trmfoy %@ Thi-3T9 9rd Aeaal &
designing is o F e :

(A) PHP | (A) PHP
® c# (B) C#
(C) Coffeecup ACCoffeecup &=~

(D) PY['hOIl. (D} Py'thon




17. Which of the following is correct for POS 17~ Ush POS Wi+ g 71 # @ o wf 87

machine ?

(A) Cashless transaction (A) TERfEd (FIRE) oA

(B) Point of sale (B) W= 3w T

(C) Digital payment () Tefrea iz (fefea ymam)
(D) Ailof s (Y7 W g

18. Which protocol is used for browsing , ;é.f«f-ﬁﬁﬁéw%mmm?ﬂw

website ? - fopan ST § 2 g ,rw
(A) TCP (A AFR e " il

(B) HTTP : By AL & M

(& “TFIP (C) TwmL

(

D) TFTP (D) LU

19. Which one of the following is a free open &/ﬁﬂ H § -1 QIRAR Th Hi-3Ta 9

source operating system software ? stfaefen figen Aiweey §?
(A) ZENIX | (A) S
(B) WINDOWS 7 S (B) TEeS=7
(C) UNIX © 7
(D) UBUNTU - Dy S
20. It is not an Anti-virus software : \"2('%’ T VTR S e
’(A) Quick Heal ] (A) foas &«
(B) Kaspersky (B) RIEITEHTE
(C) Norton © BIcE|

(D) Python DT =



PART-B / T - &

21, ‘TR T Tl SeR HETEA Hl e ¢
(A) Tl @ -
(B) i =i T fawr
Sy ST ST F FH Hew &N
(D) |+t o T e &

22. ‘¥ AN TR S Ao § 39 A |
‘el & T o feew faran o SeeRmT R 2
\AK)  TEHES
(B) Termfes
(C) THHH
(D) ~ TR

23, ‘=l fix’ fvy YEel = 31 § 2
(A) TESH _
By S WG
(C) i@ H W

(D) =94 H %I T

20, S S & o v v
(A) SEE
(B) &
©) =W
Dy WS

25. TrofafEd § ISR SE-91 € 2
@A) ' }
(B) @
(D) efaaife

27, wran 3 faew =l 3§ feraeR A B €2

28, ¥ weer A ¥

Wi Eecut =g
(B) Towamy
(C) =™
(D) «a g e

29, Hif  wEl Wy fored &
(A) T+
B g+ QT =

(C) g-+ifa
(D) Eﬂﬂﬂﬂ H QR T8

30. frefefed 4 | Fvs = ® ¢
(A) 3
B <

LSy T =

D) =



31. Which word is the correct a ntonym of the 34.

word ‘preamble” ?

L gzam@ar

\/—-,-/-(A) Epilogue - gc‘{q_\fcq( .
B Exordium - ﬂ.,aS <zl

(C) Prolegomenon — G&dTad]

_—

(D) Proem =~ Qaﬁ'q:l

35.

32. ‘All precautions must have been

neglected, for the plague spread idly’.
g plagu PL 5%31 ¥

In the above sentence the word ‘for’ is

used as :
\_{A)~Treposition -
(B) Conjunction

(C) Interjection

36.

(D) Adverb

/'Eﬁt‘a’i

33. ‘The ship was castaway on the coast.of
Africa’. '
In the above sentence “castaway’ means :
(A) loitered
(B) extolled

(C) wrecked \
@i __
(D) anchored e

— —

‘Choose the wrongly spelt word in British

English :
(A) skillful f
(B) signalling

(C) distiller
‘ GM\MPUV

(D) kidnapper =" K‘/

Choose the expression in which the

preposition ‘on’ is correctly used.
(A) On Christmas morning ol
(B) On Christmas afternoon

(C) On Christmas evening

(D) None of the above

She told me, “Don’t bother sending me
an invitation.”
Choose the correct tfahsformah’on of the

above sentence into indirect speech.

(A) She told me don’t bother sending
- her an invitation.

(B) She told me not to bother sending
her an invitation.

(C) She told me did not bother sending

her an invitation.

(D) - She told me did not bother to send

her an invitation.



37. ‘Who taught you French ?' 39. ‘You can dial Rome direct

Which of the following is not the correct In the above sentence the word ‘direct’ ig
transformation of the above sentence into " used as :

passive form ?

(A) By whom was French taught to (A) Adjective

you ?
(B) Preposition
(B) Who were you taught French by ?

C Adﬁerb
(€) By whom were you taught o

French ?
' (D) Verb
. (D) French was taught._to you by who ?

40. Th o |
38. Which of the following word is not a © plura_l form. of the word “kile’ is ;

synonym of the word ‘pouch” ? |
(A) kiloes Y
(A) Satchel = SR |

'\)E},— ﬂ) kilos

(B) Sac - ¥

' N\ .
(C) Sack - ‘é}ﬁ-r‘ | | (C) kllOSe

Q’*’I"PT
g sat o1 HRe

“AD) .Pout o (D) kiloce




41. Incourts A, B, C, D and E the number of 41. A,B,C, D dal E T § el
pending cases against politicians were fowg aftaq qasw’ =71 9= FUI
respectively 3 thousands, 5 thousands, 3 B, 5 BN, 2 TSI, 4 TSR 991 1 TSR &
2 thousands, 4 thousands and 1 thousand ST fvig 311 & a1e e 50, 20, 10, 40
in which after final decision 50, 20, 10, A 30 ST SO T T 3T S
40 and 30 politicians respectively were TSt T Fid ~HrEer i §
found free of charges. Hence the average ptstat bl & | SU0° -~ 3000
charged politicians per court is : 2DET = "/‘gf : &,

===\ & _ _— -
(A) 2500 @ ol L (g) ;Zgg N oty L (Wey = 2000~ 20
B) 2900
©) 2970 y-greouF = 1 BT 2970
(D) 2570 © (D) 2570

42. If the sum of two natural hiimbers is 8 .., 42. ammﬁ ng%ﬁmﬁw
and the differerice of their reciprocal is : =1 3F % % 3% vend A :/1@
_%__ Then the numbers will be : “/'/! = kd—'j';cf =15 g

- -~ X ¢ -z f o :
(A) 3,5 * T HF e A 35T ss 2 20
&, L7 L g B -1, 7
(D) None of the above 1 (D) " SH H | I T
q St A — e 43. * TF gHM 1 Ie foran o i veen s o1 ™
- 30%, TN ST TR 50%, Rt S o
o?M'J L = § &0 T 80% Tl Hen S quw o fean s
. 2 600 Teh Al TRl S % 700 S, THA S
37—01 - Bon T 800 e, A =9 T 2,000 el 9l
_foce - — =N S T 4,000 A UG AT S| 9 32
ds - . Fod Toha T [T Sl g 2
n.." =
700 X30 £90 2y, (A) 24,210
— —e——
@Ay & 100 71,290 F
(C) ¥5,29
)y = Lebd -
@) oo - 4l "1 ) s
got. X 2890 Pr—
(&) 28T d
1290 <2y-




44,

Sum of three numbers is 116. The ratio
of second number and third number is
9 : 16 and the ratio of first and third is

1 : 4. Then the second number is :

9 demedl # A 116 §1 I §Een g
FrEd T STUE 9 : 16 § U1 gl § A
oA l: 4R qEG HEem g7
W‘g?" F—fc:'mﬁ”"f' 2 Y i L
IXIG -

44.

A 30 Y . any . o iy 30
(B) 40 & SFR z 1 (B) 40 .
() 45 x 'Yy 12 () 45
D) 36 {6 ! : 64 \__»,,(DT""?% vl
2HytZ = [ 636+ 6G = 116
. (27)% % (8)—4 ) o % 8 _%
The value of = is equal to : 45. AL AC) Edl :
(162) 72 (162)_% T
@ = (@) Bx () @A) 2n Sl nf
B) 3n+3 2 " (B) 3n+3 @/Mx (39)
) (@) @.37,‘7@ x ( 182) s (\)9}427)11% (8/0x (3)2”
D) @5 P (@) " D) (35" @)"x ®)
. h/e h
RS s t @(__"'f_J |
In the following shaped utensil, @?e{‘i: 46. T SApla T;Fa?f'—f‘éf, Ife Te-fasE s gt
third is filled of water, then volume of the g A9 T T AR © |
~ remaining part is : A/STUne = LABA R
~ goqIsxS
10 cm / 10 9.1, - SO
15 cm 15911, ¥ 3
5cm 5.1, Q(GT '{/5 H);’
(A) 750 cm? (A) 750 A3 AT g w0 &
(B) 150 cm3 (B) 150 ¥.3 3?&‘0/@ ~ 260
(C) 500 cm?3 \/(9,/5"00 ﬁ.ﬁ.é\%
(D) 250 em? (D) 250 Q.3 s e

(4!




47.

48.

49.

If a student increases his speed to 47. aﬁ%@maﬁwmmﬁaw g
4 km/hr then he reaches his college 4 T /¥e sifuer By Tq = 20 e
20 minutes earlier whereas if he slows ‘:@_ﬁ_ CARE| TE9 W ¥ Sty IR =1
down his speed by 2 km/hr, then he 2 fmtﬁ/‘aﬁﬂ FH B W 98 Fie 40 fiye
reaches his college 40 minutes late. Then g Tg'?lﬁT = T BT T Sreaferes =6t 2
the original speed of the student will be : TER &Q‘ [T - e
(A) 2 km/hr 8 X8 o g ST HA(a) 2 T/
.D :
(B) 3 km/hr g,-S (B) 3w /e
20t 20) ;
(C) 4 km/hr XL ( i ‘w(g 4 TR, /o
% T ° ' :
(D) 5 km/hr Lxe 69 (D) 5 TohA /5
s =, kD
=Y
If area of circular region is 154 cm?, then ~ 48. &f< T JHild & 1 &=kl 154 QM2 R, @t
the total surface area of the cube whose TP 41 oF SR IRl B9 & 9t gaal
side is equal to its radius will be : W FA SR 331"'” :
= Tyl - fgé F,L j
(&) 7 S2r ISGX T (A) 7 .
(B) 294 - BT 294 F
©) 290 Gpen qpeat Suipoe (C) 290
Cuber 6%
(D) none of these ~4-3€2 'Bf (D) TTH 9 HiE Hﬁ
. . , o EXEXF [mben Slole 2 QM“M]
' = Do emt
How much percentage of numbers in 49, 12,2232, 20162 ¥ T wfowa ge&amd
12,22,32, __ _, 20167 are there having 2. WitaFr 28?2,
» 5 . :
in the end ? _:@_-,‘é—'cbl' %Q,j—- 1 Xl d:[
(A) 50% © (A) 50% ﬁip“"-’(” ar 3 H
3329 | 3ty & A AT
(B) 3B3% B 3%,
C) 2% (©) 2%

(D) 0% ) 0%




als

5Z.

- ©
®

the GCD is 37. If one of the number 15

1961 the other number is":
L.om x HCE

s oy

WOPTIEY AR ML A

1961 & A1 THT 3% © :

Ay 2579 1xIT = (A) 2579

(B) 2369 gpq; xfi 1313861K I+ (B) 2369

(C) 2479 Eﬂiﬁ CY 2479 &

(D) 2469 - 1967 (D) 2469
= 6FX3T

In the following circle ZCAD + ZCBD ="

<

51. = 99 # LCAD+£CBD= .

| W
Zoco ' <0DC [1:(474_@.!61!"’5 (g) e

é {poc (TheeAer]

B__A £c8D ¢

KLM"
St g/[Cgp s ;%—(DD(‘_

(A) 60° _
B) 30° spcpt{cDo+L DOC T8 Ry 300 Lcaoo éo'
o , : R0 5
© 120 307+ 0%, 4+ L DOC 4. 12075 Lc@D +£CAD
(D) 135° . 5 & 44 N Gs' + 6o’
Fa8r *-7

ZDoc s £20°
In a convocation average weight Ic_Jf
16 members is 55 kg',' ;iveré’gé weight of
25 members is 45 kg and average weight
of 14 members is 40 kg. Then average
weight of all members in a convocation
is: ')-{";é:mléf Q"Eb
(A)
(B)

40.5 kg r?d(-.,lﬂ" = 4 SRS o 41.-% ;S_

465kg - -
¥ Xy = 40xu = 380
445 kg =

vl = Xgg = 8

None of these

52. Terelt T 3 16 el By aived w55 R

© % 25 weEl o oliEd a9 45 fRI ¥ e
14 9= A1 39T o9 40 Teoam. 2, @ s
F Tl T 1 S S R ?

ygr & |
¥ o A S
s

46.5 T, e Ly 9 re.g.

(A) 405 fem

(B)

- ggot 1N254C) 445 TeRam.
STo by T A T T



53.

54.

55.

If 5 men or 8 women complete a work in 53.

26 days, then 4 men and 4 women

together can complete that work in how
Uk X6

M . £
G‘n&ﬁ"j'[jf o

many days ? 6 MXQ2E <

(A) 13 days

(B) 20 days
l —
©) 85 days = 4o 40

(D) none of these

Which of the following number is not a 54.

rational number ?

8% x 25

B) %

(B) 2% x 8% x 8h

(B 20 f&q
Total (30K = 5X8X26—""

wﬁsamn“rmsﬁw%amﬁ
26 Tl & Q0 d € @ 4 s1rert sig 4 3
ﬁmwwﬁ%ﬁﬁ:ﬁﬁwﬁ?
(A) 13 fi & ppdeptid
%::) Z_’)(gf' éfx.g—

Frafafad # ¥ wH- gen it e &2

Rational A~ P | & Q. Fo0
. !
S%.x 2%“_ -5!2\9('?{' 2l Xl :
B ek . TBag ¢ Sz 4
7 1

B KxghxshD> 7, X m

5% x16% oo H X2 _
1253 %16 12572 x 1674 S g 5X2 5 10
&l e o Eainl.
) Z
(D) None of above @)wﬁﬁﬁﬁﬁ
2-2+2-2+ __ _ 2017 terms = 5. 2-242-24 ___ 2017 W =
A) 0 (@-24R8-2) - - - 5"0”‘"& (a) 0 | |
.,‘_’: T @ ot A A
© T2 E B2
&>‘ s 2 Nor & T
@ -2 . gere u@ FT AT g
D) - QT @ G N 2 (D)



5=

>

%

P

56. 5% WHRY = & W fHad af F

56. At5% rate of simple interest in how many
= G-“il‘ﬂ ?
years interest of ¥ 2,000 will be double of < 2,000 =1 =TS GAUA T I & L
the principal ? o ii;’
(A) 4 years : (A) 4 &
Rz Q800 q 2
B) Oyears Qg & i o QxP ~ABF A0 T
(C) 20 years " QECOXSXTC) 20 =
v a LB S
' 400
(D) 2 years (D) 29
—_— Leooo X 100
T Ro0X 5
aé - bé 57. A a:b=2:3, @

i

(a%-b) (Qr+abid)
QC-—- 36 |
@4,.34/ (22> +2%3+ 3

6¢ — & F2I
(16-——@4/{4""64’9)

P
.——””/_/.f__-
(_-65) x 19

465 35 37
D Tesx29 7 k€

@5—1bb) : (a%—b?) (a2+ab+b?) =

' \%{)’7:13 ‘
B 1

G

(D) 378 & = T8

o2
@ z= T2

58. T Ao 15 a5qe T 33 H =y ® ek
- 10% W FER ¥ . AR 9T ¥ 10 gwd
P 325 9 9=l §, W S Fra wiaw oy

RLLLE Q-fi@f:ﬁ. g

%5% Ik

¢ - (B) 25% =

(C) 15% oy

.3(;'150'4

G2
Ly g
= &

r 25 100
2 :

g'v

- o i.'){ oD o A
O]~y 52 0 PR



60.

61.

1 1
1+‘§+22+‘2—3'"'5'4—_‘E= 59.
3 I =+

A) 0 e g s Y o
() &"*'({ (T

" |
® ~mw Tal, IS

S R g

1 pe 31 3
C) 7 =+ J 4= - —
©) 24 & lg 14 14

(D) none of these

Each interior angle of a regular polygon  60.

is 144°, then how many sides are there in
that regular polygon ?

1,1 .1 31
1+5+?27 B
(AT 0

1
(B) T ot

1
© -7
(D) ¥ 9 %E T
U GHAGYS h1 T STTiieh HIvT 144° &,
ol 99 THAEYS § R g €2

Given) " Triesion v‘b’ﬁie — 144"

(A) 5 g@r\g @TE <£}E7 Lr&0- 1494 (A) 5

(C) 10 -
R m— Z60°
W?}F ql <ear] - ——?*6" \

wy

(D) 12

At 5% per annum rate of compound  61.

FA TR = A = 260"

(B)

\ e 10 &=

(D) 12

Y A ALLXID T L4205,

"

5% wfaay wehafg <A 1 < W T 4,000, 1

interest what will become the amount 24 T8 915 feRa T;ff SRA? Sy .7 E £) o
% 4,000 after 24 months ? 2:50C 5 R4 TE 9 R4
(A) 4,100 J{GT?A) T 4,100 P 5 4
(B) % 4,210 (B) . E 4,210 <o) oD, okl
. : A0 2/
(C) 4400 (C) T 4400 ——
£ 80 Aeé;c!

(D) ¥ 4,410

" v L
/(a)/u,mo i o CT TR




62.

63.

64.

63+9—6X7+6+3—-2= 62.

(A)
(B)

(C) 40

(D) none of these

The square root of 1391.29 is : 63.
e

(4) 273 43919

® 373 7 | —qeo

&) 983 233 x 3F2

D) 37.03

®) =) A0 X140

Volume of shaded portion in the 64.

GoDMA <

20 €349 —42+2-2
0 -4 = 2D

following figure is if :

(i)

@
i)

Radius of base of ;'ight circular
cone=6 cm.

Radius of base of cylinder=3 cm.,

The base of right circular cone and
Cyhnder are concentric.

ep:gag It - &@7‘#%47'_'0 vetume of $

Given that the height of cone is 10 cm.

(A)
(B)
©)
(D)

63+9—-6%Xx74+6+3-2=

20

30

40
ST 9 i3 T

1391.29 =T A ¥

(4)

\(B)

(©
(D)

~ 37,35
333

27.3 312
10

2 BF2

-

37.03

frey f o BEifRa ¥ = STEER & 9t

?@ﬁmloﬁﬂﬂ gl

o g W YR Wi
=6 A, 21

A ¥ IR F Ben=3 A 21
ST dY1 T g UE YR

TIH=E B

hooled PO

G O,

Bﬂ

47 1w cm? ,Rgﬁfr.r/}z‘,fﬁ(—rf?)i_(A) 47 w Q.13
84 r cm? 84 m AHI3S
gem® XS 7 (rj,} T3 (C) 47 A3

84 cm3 ('TT & ;,:F:,’.,‘é——é_p_} (D) 84 €.H.3



65.

66.

67.

Ram purchases a mobile in ¥ 2,000 and ~ 65. T Z 2,000 H TF Ha$el TliEa & a1 WIgd
sells to Sohan in ¥ 3,000. Sohan sells it to %1 T3,000 H AT AR e I THA H
Rakesh in T 3,500. Then, Rakesh had to 23,500 H 99 <A1 ¥ | O WhI I IH HiegSd
pay how many percentage more than o TeQ " 9 Tohe1 Hiererd STy Tar T
Ram ? I g1 ? . 1< '
: h R oleef X 1860
By Bo% emy S0 o (A 0% oo
(B) 20% i ; . (B) 20% | i
o, 0, =5 z '?—_
(C) 75% ;' % 75 %, N o
1 , ..
(D) 135% (D) 13%% L. FE&V 2TC)
ROTOXY X ~ 260D
0D
In the following parallelogram, ZBAC= 66, {7 AR =g« ¥, ZBAC=

D apyBC,ABIIDC

[ AT

[az= /_D/(H?(C_
%‘q,ﬁ%}‘ 3Jor)
_ B

A

e

Then

60° '
B . - C .
S cpramy Latiatletlpz g Zaide= 360" — (Eot-60')
(A) 50° g (A E0 s
. " - | Le b
(B) 60° (B) 60° e a
(C) 70° (© 70° £ = Bl
©) 80° N
If  a=0002, b=0003, = ‘then 67. AR/ a=0002, b=0003, =
(a+b)2—(a—b)2= e
(8 0.0 " 0006 "'zf'x'a-daixo-m:s
B) 0.024 m .
(B) 0.024 (B) A, ax 0 (o008
(©) 0.0000024 (C) 0.0000024 O B0
(D). 0.000024 \__ (D) 6000024 % e



68. - A train of length 300 meters is travelling 68. 300 T =l Th et 54 TR /52 i
with a speed of 54 km/hr. It takes AR § =90 W e | 39 T 9 B IR R
40 seconds to cross a bridge, then the 409, T gl qd 1 TR B

length of the bridge will be : ' g, " T
(A) 250 m- . xko qen (A) 250 “

x =
B wom 30T 2 S A0 o

(C) 350 m . (C) 350 .

260 4x = 60D

(D) None of the above (D) ¥ ¥ Fl Tl
r. o 68p- €00

= B0 ™M,

69. Tf x4y =B, % —y =3, then the - 69, AfG x +y =43, x —y =2, M wHeH

expression 8xy(x?+y?) has the value : Byl +y° )mf ?:;T(b (iiy ST AT
(J(’_cf*'j )= 3/ 2 &)= EhE
(A) 52 = iy Ly
—€19 W
® 20 = 4G 1 (B) 20 1
l = @—1)1_- - g
© 10v2 - E’U 4‘:3) © 1042 il 9
xzwa ldr"? - B . :
7-}7,941{
D) 5, ?
ﬂ%’) .Gy o an 5'3\ Nsa& QL M gxé'x 872"

Qrid g = 5 |x? »rvaﬂf— ?/Q_ﬁ

70. If 3a+5b=28500 and 5a—3b=8500, then -  70. gfe 3a 4+ 5b=8500 aarr 5a—3b=28500, =

values of a and b will be respectively. ' SRHER: addlb %h‘ Bl
)(3q +SH & &‘sm) | b=
A) 500, 2000 A) 500, 2000 , uz_
& 3 (&q -3b = £500) A L @> i
(B) 2000,500 g6 +RSh & gsoox5, (Br 2000, 5i30~/;3a L ExXsoD = ¢
1Sa#I b = gsvvx2 3 =~ $S00-2600

C) 85,8 — (C) 85,8 - :
34b = BSTOXZ s &
(D) 8,85 \ : (D) 8, 85 g2 o?ml




71.

72

73,

In the following letter series some of the
letters are missing. Choose the correct

alternatives in which the letters are in

same order of blanks :
_acca _ €Cta _ accee _ aaa
(A) acca

(B) caaa

(C) ccaa

(D) caac

Find the missing number in the following

box.

1] 3 49
5 19 ?
7 13 | 100

(A) 49
(B) 121
(© 169

(D) 144

Choose the numeral pair which is

different from others :

(A) 70 -80
(B) 54-62
(C) 28-32

(D) 21-24

71. Trafafaa e avit § o er fagw 8
frafataa famen & @ @& faemed g1 <=l
steR e Tl Fpa A& &

_ aCCa _ CCCa _ acCccc _ aaa

A) acca
B caaa
(C) ccaa
(D) caac

72. Trafafed o 4 e de @

11 & 49

5 19 I

7 13 | 100

1143 %’ 5l

(B) 121

©) 169

Wf‘ 144

@) 49 sHo= :@2’“@

403 = 0,3 = @iy = 100

73. UH W& - S S a A =g

(A) 70-80 -
(B) 54-62
(C) 28-32

AD) 21-24

4‘0 '
g

B
7|

—

C‘;\Usﬁ\/



¥5.

> o D e r
-2 ke’ ¢ c &
Q@ R ¥eq T U
'3 ‘& 10 20 2

Following are given four group of letters.
Three of them are alike in a certain way
while one is different. Choose the odd
one.

(A) ALMZ

(B) BTUY

(C) CPQX

(D) DEFY

A mouse runs 20 meter towards East and
turns to right, runs 10 mand turns to right,
runs 9 m and again turns to left, runs 5 m
and turns to left, runs 12 m and finally
turns to left and runs 6 m. Now which
direction is the mouse facing ?

PULY (2R

(A) North

(B) South - East
sm.

ADM.

(C) East >

West

(n
p g
4
22
74.

H [ 7 Ik L N
8 2 b 1l id: 2 :;.r ?G
WX oy z %
22 2 arf

Maﬁ%wwﬁﬁ'ﬁm% IEEEE
Rt T WohR | THA € 93 U T ST
1 3T THE YA |

(A) ALMZ
(B) BTUY

(C) CPQX

T <@l 7 H SR 20 He e ¥ el
TR S S 10 Hi=X drea ¥ 3% T iR
TRt 9 HIR e 7, T 9% iR g
5 HIet A5a ¥ oiR o iR 12 thex S &,
T | AR IR GIH 6 Wex Sear ¥ o9 8
forr foun =1 &R g7 e war 32

N
w——]——E
g



76.

frerfafiaa fos &1 e1erad Hid gU Te &

study the following figure and give the 76.
answer of the question : If rectangle I Efeu ;5@ arad fasreR g9l 8, 9
represents artists, the circle represents faeel wd fays fafwees gufa g |
players and the triangle represents doctors.
<
N
27 27
25 4 )8 s | BT 5
30 2 ﬁ\ . 22/ 8 /%j?‘,’:
KT O
How many doctors are neither players nor e s A faa@ T R A
artists ? LA R ? :
(A) 30 (A) 30
(B) 22 (B) 22
© 27 (CO)—27F
(D) 8. (D) 8
Sameer walks 20 meters towards north. 77, G IR P AWE 20 HE TSAA 1 S

Then he turns right and walks 30 ‘ni_été'rs.
Then he turns right aﬁd'_wla]:.ké 35m. Then
he turns left and: walks ‘15 ‘m.
Then he again turns left and walks 15 m.
In which direction and how many meters
away is he from his original position ?

(A) 35 meter, West
(B) 30 meter, East ()
(C) 45 meter, East

(D) 30 meter, Soufh

e F T TWE e 30 HieR Tera &1 36
- WIE T < IR G 35 HI Teidl § 1 A
=t 91 T HSHL 15 W TaarT | T o0
TWh eI 15 HieX =erdl g1 JaRd S9!

ys”

T feafa @ fraft gt ot ok g fewn =1
3R o9 a1 feem §2 29mM.
I&F 7 | [T
(A) 35 He, wfrem T e g
\
(B) 30 TR, gd
yfﬁ fi, e 30415 ¥
(D) 30 Hi, gfequr T,
e A €TV



78.

79,

Study the following figure and give the
answer of the question : If rectangle
represents artists, the circle represents

players and the triangle represents
doctors.

N

How many players are neither artists nor
doctors ? |

(A) 3

(B) 4

(Cy™ 28

(D) 25

Figure (X) is embedded in one of the
following figures (A), (B), (C) and (D).
Choose that figure.

by

)
(A)
——
(B)
(©
(D)

78.

e A

fireferfaa o 1 a7 F T WA

e AT ¢ W@l TEa FeEeRR S €, gy

figeTel wE s fafeeae g €

e

-7

2 8 ,@.@_{ﬁ

) ey Rgendt § 0= @ e § SR A &
fafercas ?
(A) 3
B) 4
Q) 22

NAD) 25¢F

79,

ot (%); (A), (B), (C) 31 (D) | & fordlt w&
o 9 Fifea #1 5@ e 1 o1

an
X




g0. If P denotes "+’ Q denotes ‘X', R
denotes “+’ and S denotes ‘—’, then the
value of

80. AP+ TN, Q'x’ qwiI & R “+/
AT ARS ‘— o & a)
18QI12P4R5S¢ 18Q12P4R55S6

FmTa e 19x12+4+5-6

(A) 28 (A) 28 % 9;3 I::Z
(B) 53 \ ’:”(E)"""‘:L:;r3 P fS" 9 -6
(C) 55 (C) 55 _—
(D) 80 (D) 80

81. Select frc_rm ﬂie alternatives given below 81. :ﬁ%f feg fashedi # @ we ey Eﬁ\[ <t fd

to complete the missing portion of the g 4 Ui Y
. given pattern :

NSNS

@ /> " . />

® N T

©

) (D)




82.

83.

Find the missing term in the following

number series :

g2. Trefafaa wem auft @ 37Ten 98 Fa A

7,12,28,52,. 2

]
i

(A) 68 (A) 68
(3j2+3 =943 7%
(B) 85 (g-) 243 oedeHT = 28 (B) 85
- > B ;
© 12¢ @Gt A9 et
& 4
fte4.5 . = 12043 >diy
(D) 128 Yy | (D) 128
If 83, 4fg
: - 2
31+72=26 q1472=26 S44 +Ft2 cAR X222
Co 16%2 282 |
52+ 45=32 52 +45=32 g2+t S+ |

then what is the value of 47 +83 ?

(A) 125

(B) 44
) 22

None of above

a1 47 + 83 T A =7 BT ?
LA+ 82 = 2

(A) 125 :
B 44
; Q) .22

(D) w

|




D e F G H \ N
7 2 % 4 € ¢ C M \g ?o * kB OW
84. Chddse thé mlssing term from the  84. ﬁﬂfaﬁaa Mﬁﬁ?ﬁrnﬁ%ﬁmuﬁr
following alternatives : gHT| ,%_r\ %,/l L//

3F, 6G, 111, 18L,

g Myt 3,1

3F, 6G, 111, 18L,

(A) 210 | (A) 210
(B) 25N B 25N 2 & 11 48 27F
(C) 27P S8 27P I_EJL?JL'?JL_QJ
(D) 29r (D) 29P

85. Choose the diagram in which the 85. feigu fesi & & o foa g o Freafarfen

following groups of elements fit - sTagdl %1 98 Uel ale 9 fafa @
correctly : . ' '
House, Brick and Bridge | =R, 22 3K qa
i {8« 3T YT
® 2 T €
e e
@) O
@ o B o



86.

87.

PART - C

What is correct about z-\ppml_‘u'ial'iun

Bill ?

()

(1)
(1)
(iv)
(v)

(vi)

(A)

(B)

(©

(D)

It is introduced by Finance Minister.
It is introduced in Lok Sabha.

It can be amended by Lok Sabha.
It is presigned by President.

It gives the legal poﬁer to the Govt.
for expenditure.

Cut motion can be introduced by

the opposition.

(1), @), (vi)
(i), (@v), (v)
(i), (i), (v)
@), (i), (v)

Diphtheria is caused by following

organism :

(A)
(B)
©
(D)

Fungus
Virus
Bacteria

Worm .

T - T

g6, fafTam fairrer o foroa © WE 0 E 2
3f«, - 119

e far = g S R S 2

T Argen 1 T TR S
g T YA R gl ¢ |
27 T g gd e ol €
eI |

gfrger FERT TEIE T L TR S

(@), (), (v1)
(1), (i), (v

(), (i), (v)
@), i), (v)

87. Tewiifan Fmfafaa Stam & wRo g § ¢

(A) TTH (FHT)
® @@
F© SR ( BT AAEERA)

(D) = (Ffw)



88.

89.

90.

91.

The Second battle of Panipat in 1556 A.D.
was fought between whom of the
following ?

(A) Akbar and Rana Pratap
(B) Akbar and Hemu

(C) Akbar and Rana Sanga
(D) Akbar and Durgavati

In which of the following sessions in 1929
the Indian National Congress passed the
resolution of ‘Poorna Swaraj’ ?

(A) Amritsar Séssion
(B) Karachi Session
(C) Lahore. Séésion
(D) Nagpur Session-
.
Which state has least population in India
as per 2011 census 7 '
(A) Arunachal Pradesh |
(B) Sikkim
(C) Goa
(D) Mizoram

In which natural region maximum

diurnal range of temperature occurs ?
(A) Equatorial Region _

(B) W. European Region

(C) Mediterranean Region

(D) Hot desert Region

88. 1556 3. § uHud w1 fida g Frefoles o
L R N ae T ?

(A) SR T o T - 6T 1516 )

S TER T
(C) SR Tal o -

it

(D) TR TS el

89. 1929 # Frfafes ¥ @ fem afudem A
REATE T g 3 ol =’ s g=e
i e .
(A) STEE AT qﬂf,m,m?lﬁ
(B) e e (< R Sy
A= STYELS ,
F(C) TR e 3 edp - AT ’
(D) =T 3ifeEE (&g TEEFIR ~ 19.20)

90. 9Rd ¥ foh9 T ¥ SHEEA 2011 61 S0
F STTUR W HY &2

(A) STEUTHE WS
oAp) fafern
© T
(D) fisim

91. waifus A auiR frg wrfas wew &
U T § 2 . -
A) FpmEEwm
(B) I¥=RT F9E qed Wew
(C) S[A¥ WFKE ToT
LAD) I AR TR



92.

93.

94.

. (D)

The human eye forms the image of an
object at its :

(A) Cornea
(B) Inis
(C) Pupil

(D) Retina

How many parts are there in the
Constitution 7

(A) .22
(B) 23
(C) 24

(D) 25

Which sector has more growth rate to
accelerate the industrial growth of India
in 2015-16 ? |

(A) Mining and Quarrying
(B)

©

Manufacturing .
Electricity

Construction

vz,

93.

191>

e Y eitE Tt g TR R W
I B2

(D) 25

99 2015-16 ﬁ_w%aﬂ%ﬁﬁﬁq@ﬁﬁ
ser H e & w1 gfs = st W R

(A) T UE ST |
G R A
® ffmm (ST
a3’

(D) =i

glel
(&) '



95.

96.

97.

Which of the following is not included in
the term ‘State’ as defined in the article
12 of the Constitution ?

(i) Parliament

(i) State Legislature

(i) Union Judiciary

(iv) State Judiciary (High Court)

(v)  Union Executive

(vi) State Executive

(vi)

(viii) All local authorities under the
control of Govt. of India.

(A) (), (1)

(B) (i), (iv)
©)  (v), (vi)
(D) (vii), (viii)

All local authorities of India

On which latitude is the sun vert1ca11y
located on 215t June ?

(A) Equator

(B) Tropic of Cancer
(C) Tropic of Capricorn
(D) North Pole

Who of the folIoﬁing Wa's_ the first Home
Minister of Independent India ?

(A) Sardar Patel i

(B) Govind Vallabh Pant.

(C) Jagjivan Ram

(D) Maulana AZad

95.

96.

97.

frfafed ¥ ¥ #F-w, 9faum ¥ ogee
12 ¥ 9Rifia ‘' s § wfirer 9 22

i) wEE
@) T faurmres

(i) @A =Ewfes X

(iv) TSF =it (39 =) X
(v) EHE wRwfdw v

(vi) T4 s L

TR % I T g v

(viti) R A = TR v s
IR

(vii)

(A) (), (i)
(B) (i), (iv) &
© (v, (vi)
(D)  (vii), (vm)

21@@@%@@%@%%@
feorm war e ?

(A) foged @
(B) e @
(C) T X
(D) ﬁﬁ%{?

@A A F e e Prefted o @
EE D

AK] TR T

(B) TiifdE Heww dd
(C) TSt d
(D) AT TR



98.

99,

100.

—Fad % He § HH W G- qE S

What type of air pressure is found at the 98.

centre of cyclone ? ??

(A) Low (A) T e

(B) High (B) ==

(C) Medium (C) HHH

(D) Al of the above (D) FH & w

Which five year plﬁn will be end in 99, WRAH 2016-17 B HIE U=Edg 91 TH

2016-17 in India ? e 2

(A) 13t Five year plan (A) Ol dEaEHd e

(B) 11t Five year plan (B) TARES g AN

(C) 12 Five year plan (©) wEE T AN

(D) None of these (D) ?FET Y g Tl

A citizen who was declared disqualified ~ 100. T TR T8 IR wated —Aed = A

to contest election by the Supreme Court e arry Hifya foan qunfu i == &

of India, even then she was appointed AT - gEEmar & 9 R e fomam am)

Chief Minister by the Governor in a state, 3YH 'ﬂ'@'q%ﬁ, TSI 3R T 1 T EGIEL

Name the Chief Minister, Governor and -

state. : ' _

(A). Mayavati/Romesh Bhandari/Uttar (A) HEER/ I TR/ 3R 91y
Pradesh

(B) Mamta Banerjee/N.N. Vora/West (B) WW/T{H‘QT{ /7. S
Bengal 300 T #HRE ETiiT & 18 TR

' AT TN aYdr TE TS (202 3
(C) Jailalita/Fatima Ali/Tamil Nadu cAC) St/ wid et/ afHeaTg
(D) Sheela Dixit/Nazib Jang/Delhi (D) e A/ i et



101. Who of the following Governor-Generals

102

103.

Promulgated the policy
Alliance” ?

of ‘Subsidiary
(A) Warren Hastings
(B) Lord Cornwallis

(€) Lord Wellesley

(D) Lord Dalhousie

. An impoﬁaht cash crop of Punjab is :

(A) Cotton
(B) Jute

(C) Manila Hemp

(D) "Bajra

In which side of the continent the Hot

deserts are located.?.
(A) Eastern

(B) Western il

(C) Anywhere -

(D) Middle

101. fr=fafed 4 4 g Tork-vme 3 wems

Ty’ =l fifa =1 wigwte fmar?

(A) =RA g
(B) TS ey
© e ddn o= [ 1798~ (85]

(D) e SIS

102, ST 1 T Teee ol ohel et ¥ :

AA) wUE

(B) <
(C) rifen e

(D)

103, mwa ﬂmﬁ a:ﬁﬂmm " Y Sy
g7

(A) Tt

By W =
5 (C) R



104. Who can remove the members of State

105.

106.

107.

Public Service Commission ?
(A) President

(B) Governor

(C) Supreme Court

(D)

State Legislature

Mauryan emperor Bindusara was the
follower of which of the following
religion ?

(A)
(B) Buddhism
(©)
(D)

Vedic religion

Jainism

Ajivika religion

Which ié not included in allied sectors of
agriculture in India ?

(8)
(B) Livestock products
©
(D)

Crops

Forestry

Fisheries

The weight of a body is measured

maximum in :
(A) Air

(B) Water
©
(D)

Hydrogen
Nitrogen

104.

105.

106.

=

T e Ha ST o T<&i Sl BiF I8
T Fehal & 7
A) TRl

B) TET@SS

(
(
(C) wdlea =maeE
(

D) U faurHuEd

it g feiger frefatea o @ e o
SaEl an?

(A) A o

/’

(B) @% wH
(C) = uH
(D) i o ==

e § F F g & o el i T@&
T St & 2

(A) THEA

(B) RIMIEH % IS

(C) = A Haiftm s~

(D) FEHATEH

107. T fave 1 uR fysay g & .

AN T H

(B) @ H
(C) TEgEH
(D) HEISAH



108. What is correct about Finance Bill ?
(i Itis presigned by the President.

(i) Itcanbe introduced in Rajya Sabha.

(iii) It can be introduced in Lok Sabha
only.

(iv) Rajya Sabha can refuse to assent
the bill.

(v)  In' the position of deadlock
President can summon for joint
session of Parliament.

(vi) President can’t refuse to sign on the
bill.

(A) (@), (@), @), (v)

(B) (i), (iii), (v), (vi)

©) @) (@), (i), (v)

(D). (i), (1), (v), (vi)

109, Which is not the objective of scrapping

the < 500 and ¥ 1000 notes ?

(A) to abolish black money

(B) to eliminate co.rruption

(C) to accelerate the economic growth
(D) None of these

A Remote of a television is related to :
(A) X-Rays

(B) Ultraviolet Rays

(C) Infrared Signals

(D) None of the above

110.

108.

109.

110.

fora fagaes & fawg & w& T 32

() a7 Tezufd % g gd eemea A ¥

(i)  Te TeEEa § ety foran s wwar -
2l

(iil) T heret eepTT | qL-Tenfua fman w0
eI

(iv) TeIE {98 ol wigfd 98 ¥ TR
F Gl &1 |

(v) e i feerf & ety vag wHge”
3 Il bl € | -

(vi) UeHfq fadae W eweR 0 9 SR
EEER »lg ~M7F

R "

;0
(&) (), (), (iv), (v)
(i), (i), (v), (vi) &
@), (i), @v), (v)
(i), (1), (v), (v)

£AA

'¥500 W9 T 1000 & TR S F FH

S TE § 2 -

(A) BT TG T

(B) WWIUR HI AR FN

(©) ~onfeies g = it rart ¥ forg ==
(D) T A FE T oy

@'ﬁﬁﬁmwﬁﬁzmﬁﬁuﬁ%?

(A) THIH

(B) TRWRT feRTol &

) R TR 4
(D) SR & F &



111. The filament of a bulb is made of :

112,

113.

114.

(A) copper
(B) tungsten
\®)

(D)

aluminium

lead

Which type of wind belongs to loo ?
(A) Permanent wind

(B) Periodic wind

(©)

Local wind

(D) None of the above

Which of the following Vedas contains
the famous Gayatri - Mantra ?

(A) Rigveda

(B) Samaveda

(©)

Yajurveda

(D) Atharvaveda

What is the loan limit of Kishor Bucket
under Pradhan Mantri Mudra Yojana ?

(A) T 50,000

(B) 50,000 to T 5 lakh
(©)
(D)

7 5 lakh to T 10 lakh

None.'of these

111. Tsh Sce =i dq 91 ST © :

112.

113.

114.

(B) ¥50,000 ¥ T5 @ —

(A) a9
(B) TwAY F

(C) Tfafmw |
(D) wsd

T T YR & e 1 I 7 2
(A) v v |

(B) WW‘//

(C) ¥ qad

(D) 99 | 18 T

gfgg maer - Ha fefafea 8 9 g o §
2

(A)
(B) wHeR
© =9
(D) 3rEag

uaﬁﬂ%ﬁamﬁwéﬁmh@zaﬁzﬁ
U7 T T R ?

A) T50,000 TH
' ,%8:?5

Q) R5@ME@AT10 &g L =

(D) ¥ & =



115. The gas used in fire extinguisher is :

116.

11744

118.

(A)
(B)
(©)
(D)

Nitrogen
Sulphur dioxide
Carbon dioxide
Hydrogen

Lime water contain :

(A)
(B)

Calcium Hydroxide
Sodium Hydroxide

(C) Calcium Chloride

(D)

None of the above

In which of the following years the

Non-Cooperation movement

suspended by Mahatma Gandhi ?

(A)
(B)
(©
(D)

1921
118
1923

1924

Which is the most appropriate criteria to

measure the economic development of a

nation ?

(A)
(B)
(©)
(D)

Increase in Gross Domestic P_roduct
Increase in Net National Income
Increase in Per Capita Income

Improvement in Human

Development Index

wadas .

115.

116.

117,

118.

~(©)

AT T o 1 1 S92 Bran ¥ 2
(A) IS
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¥ T
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(B) Wfean ewgEaEe AVt
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frefafgs § 9 fea od # weem gk 3

(A) 1921
(B) 1922
(©) 1923
(D) 1924
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119. Gujarat is one of the chief producer of

120.

121.

©)

which of the following crop ?
(A) Wheat

(B) Sugarcane
©)

Bajra

(D) Coconut

Which of the following includes the term
‘Office of the Profit’ in the context of
membership of Parliament ?

(A) Whether government has power of

appointment

(B) Whether government has the right
to remove the holder of office

Whether government pays the
remuneration to the holder of office

(D) All the above

Sports to which Harjit Singh is associated

with and he got farr}e from :

(A) Athletics - Olympicls

(B) Swimming - Qlylnipic;

(C) Hockey - Junior World Cup

(D) Hockey - Asia Cup

119,

120.

fraffas § @ frg waw @ SR &
I H T © ?

(a) T
(B) T
(C) TS
(D)

e T & wed A
yreererelt H & |itnferd § 2

(A) 1 T W T ST

(B) I URHR I T I AR

B

(C) = UGH Sl AR CRERCI

(D) S wfe”

121wl fE e @ 9§ wefa ¥ qen o g
@9 | yfafg fied ?

(A) Teifes - sifafoeg
(B) W—aﬂi‘aﬁmw

\(C)EF - S e g &
(D) ®l - TRy



122. Which religion is associated with Losar
festival ?

(A) Jain

(B) Buddha
(C) Sikh
(D) Hindu

123.
India ?

(A) Y.V. Chandrachud
(B) H.L. Dattu

(C) T.S. Thakur

(D) Jagdish Singh Kehar

124. Wérld’.s longest tunnel Gotthard base is

located in :

(A) France

(B) [Italy

(C) Switzerland
(D) Germany

125. In this state under the Saur Sujala Scheme

farmers will be given which of the
following in subsidised rate ?

(A) Solar cooker
(B) Pump for Irrigation
(C) Gas cylinder
(D) All the above

122, TR Ic0a form e @ weiftrg 22

=

\;

(A)

B) &=
(C) Ta=sa

(D) f&g

Who is the present Chief Justice of 1_;3r WQ—TWH@WWG%{%?

(A) A T=TS

(B) TA.UA T ,
(C) T I (52 o % ¥4
(D)~ < g b

124, Tava 3% wed we GOT Mo A e Feew

R

"(A) W

(B) <l

Q) fase

(D) ST
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&l T B forges faaeo o enffer wemar
& St ? .
(A) e’ FH

~(B) Td=E & fog oqg =

(
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(
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126. Which of the following players hit

3 centuries in a calendar year 7
(A) Virat Kohli

(B) Ricky Ponting

(C) Brendon McCullam

(D) All the above

127. How many countries have participated
in 2016 Kabaddi World Cup ?

(A) 06
(B) 10
Q 12
(D) 08

128. The country with which Seventh joint
m111tary exercise Ekuvenn was done by
India.

(A) Shrilanka
(B) Bangladesh
(C) Maldives
(D) China

129. Which university of this stateis assoc1ated
with Management Technology ?

(A) Maharishi University

(B) O.P. Jindal University
(C) Ayush University
(D) Guru Ghasidas University

126. fm=1 § 4 form faenst 3 & Fewst 94 §
LIk R IGEACE A
ﬂA) faue st
(B) Tt wifem
(C) =T HERe™
(D) Sulier Tt

127. fras 39 3 2016 % Fag! fovd F9 H 9
foren o ?

(A) 06
(B) 10
A 12
(D) 08

128. magaﬁﬁwazwm ShaAR I + forg
| 'E’:m%wam?

(A) s’r\a’a:r- ;
(B) @ivelre®

(D) =i

129. meaﬁﬂmﬁmﬁmﬁmwmsﬁﬁrﬁaﬁ
CRSCiECR A |



130. Areawise, what is the rank of this state,

131.

132.

133.

in the country ?
(A) 6th

(B) o

(C) 10t

(D) 11th

‘Ghumura’ dance is a folk dance of which
state ? '

(A) Jharkhand

(B) Arunachal Pradesh
(C) Maharashtra

(D) Odisha

Elected President of Anier.i.c%i-, _ﬁonéld
Trump was candidate of which party ?
(A) Democratic party

(B) Republican party

(C) Green party

(D) Constitution party

Marwa thermal power plant is located in
which district of this state ? -

(A)
(B) Raigarh

Janjgir champa

(C) Bilaspur
(D) Korba

130. aﬁmﬁqﬁzﬁwmw%ﬁww
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134. Match the following : 134. 3fea Gaw Sifsd |

| AT InpIe District T fte

excavation sites I

(a) |[Pachrahi (i) [Sarguja (a) [werget (i) [FTgsT

(b) [Sirpur (i) |Kabeerdham (b) gz~ |(i) [Reiam

(c) [Maheshpur |(iii) |Baloda bazar (c) [mewrqr- |(ii) [STeifeT SISIR

(d) [Madkudeep |(iv) |Mahasamund (d)[wsgea  |(iv) [FeRHS
@ ® © @ @ B © @

(4) @ @) @ @ - (A) (@) (v) @) ()

(B) (@) (@v) (i) _ (i) B @ @v) (@ ()

(© G @ @v) (i) O @ 6 @) (@@

(D) @@ @@ @ @) (D). @@ @) @ @)

135. Which is the 5t country inducted in. 135. Wﬂ@ﬁ‘\qﬁlﬁ%ﬁ EREICIRIEC e )

BRICS Nations ? - TN

(A) Brazil - (A) e =< i

(B) Russia (B) TR

(C) India . = (© w@ <

(D) South Africa. D) R T L

136. Which is called as ‘Jogi Bithai” in Bastar 136. &I MU F it e’ ol e ST B?

Dassahara ?

(A) HfH =T T

 (B) T WS TG

SAC)” T i Frga £ €@ <L o7
D) e e 0% T ]

(A) Establishment of iciol

(B) Establishment of flag in chariot
(C) Appointment of Pujari

(D) Establishment of kalash in the

temple



137. Which of the following dynasties was the

earliest during ancient period in this
state ?

(A) Rajarshitulya Kula
(B) Sharabhpuriya
(C) Pandu

(D). Nala I

138. The fort situated in which pldce of this
state is known as ‘Gaj Kila" ?

(A) Jashpur
(B) . Sarguja
(C) Bastar

(D) Ratanp_ur

139. At which of the following places in this
state the largest dep051t of iron ore

exists ?

(A) Ravghat

(B) Chhote" Dongér
(C) Bailadila -

(D) Rajhara

137. Wwﬁmﬁwﬁﬁmﬁf@aﬁﬁﬁm
TSTa9 TAwers o 2

AN Teifiged Ta @
(B) wWwagda @)

(C) wvg (4

® @

138. 39 T & el W Teem et = Wm
g ST & ?

(A) SRIYY
(B) U

139, 38 T ¥ et 3 & o T 3 g
- T % iy faega wer fremm E2-
(A) TEEE
' (B) BREW
AT



140. In which of the following years Raipur

141.

142.

was made the capital of this state ?
(A) 1818 A.D.
(B) 1825 A.D.
(C) 1858 A.D.

(D) None of above

Who of the following was involved in the
Raipur Conspiracy Case of 1942 in this

state ?

(A) Maulana Abdul Rauf
(B) Ramgopal Tiwari

(C) Parasram Soni
Ratnakar Jha

(D)

‘Sarhul” is the festival of which tribe of
this state ?

(A) Uraon
(B) Gond
(C) Pradhan

(D) Kanwar

140. Tr=fafad o & fh9 94 § @R = 39 T
1 YT ST 741 7

e
a) 1184 d@d ¥ c(;%ﬁ%
-%‘ {f’ﬁ?lpﬁ/ '<‘ <
(B) 1825 %. » 2’@{ m}‘@;‘—
(C) 1858 %. -
(D) 3w H &iE T

141. 39 T § 1942 ¥ TAR vEET ¥4 F
Frefirfim & & 7 Wi a2
(A) T e
(B) e e

(D) TR 30
142, 7909 3 g SR ER TTEe 7 2

AN =i
(B) Tis

©) wum

(D) =



143. The main occupation of which tribe of this

state is “Bamboo Craft’ ?
(A) Halba

(B) Kandara

(C) Kathiya

(D) Jhariya

144. Who was one of the leader of this state
imprisoned at the time of Raipur District
Political Conference in March 1922 ?

(A) Pt. Sundarlal Sharma
(B) Rawf Khan
(C) Pt. Ravishankar Shukla

(D) Pt. Ramanand Dubey -

145. In which of the following years the British

. territories of this state were incorporated "

into a Division of the Central Provinces ?
(A) 1858 A.D.
(B) 1862 A.D.
(C) 1870 A.D.

(D) 1872 A.D.

143. 39 U9 & TAfafed fa smefa = g
& ey e’ €2

(A) ol
o) F— A &1 FarT

(C) =fsar —

(D) e

144, TG T59 § A€ 1922 % TR e THIfah
e % g Rgar ga Swsll § | TR
9?2 |
(A) . grxerd yHi
(B) &% @i

E(C)- . Ui g

(D) . W= g

145, Tr=forted & @ g o8 3 79 v & fafem
TN Sl WEAHId o Wb WA H wiAfer fema
R |
(A) 1858 %.

SZ(B)—1 S |
(C) 1870 3.

(D) 1872 3.



146. Which of the following raillines does

147.

148.

not exist in this state 7 -
(A) Mumbai - Howrah
(B) Raipur - Vishakhapatnam
(C) Bilaspur - Katni
(D) Raigarh - Puri

To which of the following Zamindaris the
first martyr of this state Narayansingh
belonged ?

(A) Bilaigarh
(B) Pendra
(C) Gundardehi

(D) Sonakhan

Which of the following is the principal
river of the Bastar Plateau in this state ?

(A) Indravati
(B) Shivnath
(©) Hasdo

(D) Kanhar

gﬂwﬁﬁrﬂﬁf@ﬂﬁﬁw’ TeHT A

147.

H e &7

(A) HoE - FEE
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[SeTHYL = chcHl
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frefafad 5 2 g SHie 9 39 9 &
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S

149. On which of the following rivers in this ~ 149. 39" ¥ Fafafad 4 4 frg =< w tasie
state the Ravishankar Sagar Project has AR 9fEarsm ferg 22
been situated ?

(A) Mahanadi L =AA) EEEE]
(B) Shivnath (B) Tirermy
(C) Hasdo (C) TEal
(D) Indravati | (D) g

150. Who of the following was the first  150. <herd{l ST sl FHIE &% UT=IG 36 TH H

Maratha ruler in this state after the end 9T AST AHh Fefafea 3 9 s o0 ?
- of Kalchuri rule ? '

(A) Bhaskar Pant ; | o (A) W Td

(B) Raghuji Bhosla | (B) TESI MrEel
(C) Bimbaji Bhosla e fefersit e

(D) Keshav Dinkar (D) =3 A
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